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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      

iz'u 21 gSaA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

21 questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : D 
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• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 
entertained after examination. 



 ( 3 )  4330/(Set : D) 

4330/(Set : D) P. T. O. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % –    

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa dqy 21 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % v] c] v] c] v] c] v] c] 

llll rFkk nnnn    esa foHkDr  gSaA 

 (iii) [k.M &[k.M &[k.M &[k.M & vvvv ds iz'u la[;k 1 esa pkSngpkSngpkSngpkSng (i-xiv) oLrqfu"B 

iz'u gSaA iz'u (i) ls (v) rd cgqfodYih; iz'u gSaA izR;sd 

iz'u esa pkj fodYi fn, x, gSa ftlesa ls lghlghlghlgh fodYi dk 

p;u dhft,A iz'u (vi) ls (xiv) rd izR;sd dk mÙkj ,d,d,d,d 

;k nksnksnksnks 'kCnksa ;k okD;ksa esa nhft,A izR;sd iz'u 1 vad dk 

gSA 

 (iv) [k.M[k.M[k.M[k.M &&&& cccc esa iz'u la[;k 2 ls 11 rd vfr-y?kwÙkjkRed 

iz'u gSaA izR;sd iz'u ds 2 vad gSaA 

 (v) [k.M[k.M[k.M[k.M    &&&& llll esa iz'u la[;k 12 ls 18 rd y?kwÙkjkRed iz'u 

gSaA izR;sd iz'u ds 3 vad gSaA 

 (vi) [k.M[k.M[k.M[k.M        &&&& nnnn esa iz'u la[;k 19 ls 21 rd nh?kZ mÙkjkRed 

iz'u gaSA izR;sd iz'u ds 5 vad gSaA 
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 (vii) [k.M[k.M[k.M[k.M    &&&& nnnn ¼nh?kZ mÙkjkRed iz'u½ ds nksnksnksnks iz'uksa esa vkUrfjd 

fodYi miyC/k gSA ,sls iz'uksa esa ls vkidks nh x;h NwV esa 

ls dsoydsoydsoydsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 21 questions, 

which are divided into four Sections : A, B, 
C  and D. 

 (iii) Section – A contains question number 1 

having fourteen (i-xiv) objective type questions. 

Question from (i) to (v) multiple choice type 

questions. Each question carries four options, 

from which choose the correct option. The 

answer of each question from (vi) to (xiv) may be 

given in one or two words or sentences. Each 

question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 

11 of very short answer type questions and 

carry 2 marks each. 
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 (v) Section – C contains question numbers 12 to 
18 of short answer type questions and carry 
3 marks each. 

 (vi) Section – D contains question numbers 19 to 
21 of long answer type questions and carry 
5 marks each. 

 (vii) Internal choice is available in two questions 
of Section-D (Long Answer Type Questions). 
You have to attempt only one of the given 
choice in such questions. 

[k.M[k.M[k.M[k.M – vvvv    

SECTION –  A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fuEu esa ls dkSu&lk fodkj ¼flaMªkse½ eksukslkseh dk 
mnkgj.k gS \ 1 

  (A) Mkmu 

  (B) DykbuQsYVj  

  (C) VuZj 

  (D) buesa ls dksbZ ugha  
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  Which of the following syndrome is an 

example of monosomy ? 

  (A) Down 

  (B) Klinefelter 

  (C) Turner 

  (D) None of these  

 (ii) tcM+sjfgr eNyh laHkor% fdrus fefy;u o"kZ iwoZ fodflr 

gqbZ \    1 

  (A) 320 

  (B) 350 

  (C) 400 

  (D) 500 

  How many mya jawless fish probably 

evolved ? 

  (A) 320 

  (B) 350 

  (C) 400 

  (D) 500 
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 (iii) fuEufyf[kr fdl ca/k }kjk Mh ,u , ds nksuksa jTtqdkas ds 

{kkj vkil esa ;qfXer gksrs gSa \  1 

  (A) QkWLQksMkb,LVj  

  (B) ,u&XykbdksflfMd  

  (C) isIVkbM 

  (D) gkbMªkstu 

  Bases in two strands of DNA are paired by 

which of the followings bond ? 

  (A) Phosphodiester 

  (B) N-glycosidic 

  (C) Peptide 

  (D) Hydrogen 

 (iv) jkbckslksey vkj ,u , (rRNA) dks dkSu vuqysf[kr 

djrk gS \   1 

  (A) vkj ,u , ikWyhejst I 

  (B) vkj ,u , ikWyhejst II 

  (C) vkj ,u , ikWyhejst III 

  (D) Mh ,u , ikWyhejst 
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  rRNA is transcribed by : 

  (A) RNA polymerase I 

  (B) RNA polymerase II 

  (C) RNA polymerase III 

  (D) DNA polymerase 

 (v) fuEu esa ls dkSu Hkzw.kdks'k ds fuHkkxh; ¼dSykty½ Nksj ij 

gksrh gS \   1 

  (A) lgk; dksf'kdk,¡ 

  (B) izfrO;klkar ¼,sfUViksMky½ 

  (C) dsUnzh; dksf'kdk 

  (D) vaM dksf'kdk 

  Which of the following is present at the 

chalazal end of the embryo sac ? 

  (A) Synergids  

  (B) Antipodals 

  (C) Central cell 

  (D) Egg cell 
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 (vi) fdl thu }kjk dwVc) gksus okys izksVhu eDdk Nsnd dks 

fu;af=r djrs gSa \   1 

  The protein encoded by which gene controls 

corn borer ? 

 (vii) ÝwV ¶ykbZ dk oSKkfud uke D;k gS \ 1 

  What is the scientific name of fruit fly ? 

 (viii) ,aMsfeTe D;k gS \   1 

  What is Endemism ? 

 (ix) ^chti=k/kkj* D;k gS \   1 

  What is 'hypocotyl' ? 

 (x) xsgw¡ dh ^fgefxjh* fdLe fdl jksx ds izfr izfrjks/kd gS \ 1 

  'Himgiri' variety of wheat is resistant to 

which disease ? 

 (xi) ^baVjQsjkWu* D;k gS \   1 

  What is 'interferon' ? 

 (xii) vehfc;kfll ds jksxtud dk uke fyf[k,A 1 

  Name causative organism of Amoebiasis. 
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 (xiii) Loizfrj{kk jksx fdls dgrs gSa \ ,d mnkgj.k nhft,A 1 

  What is autoimmune disease ? Give an 

example. 

 (xiv) SCP dks foLrkfjr dhft,A   1 

  Write the full form of SCP. 

[k.M[k.M[k.M[k.M – cccc    

SECTION –  B 

¼vfr¼vfr¼vfr¼vfr-y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½    

(Very Short Answer Type Questions) 

  2. cká fu"kspu dks ifjHkkf"kr dhft,A blds uqdlku crkb,A 2 

 Define external fertilization. Mention its 

disadvantages. 

  3. ,esUlsfyTe vkSj deUlsfyTe D;k gS \ 2 

 What is amensalism and commensalism ? 
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  4. tSo&moZjdkas esa l;ukscSDVhfj;k dh Hkwfedk D;k gS \ 2 

 What is the role of cyanobacteria as biofertilizers ? 

  5. fdf.or is; ds mRiknu esa lw{ethoksa dh Hkwfedk fyf[k,A 2 

 Write down the role of microbes for the 

production of fermented beverages. 

  6. ok;q }kjk ijkfxr Qwykas dh fofHkUu fo'ks"krk,¡ D;k gSa \ 2 

 What are the various characteristics of wind 

pollinated flowers ? 

  7. ih lh vkj ds fofHkUu pj.k D;k gSa \ fdl thok.kq ls rkiLFkk;h 

Mh ,u , ikWfyejst i`Fkd~ fd;k tkrk gS \ 2 

 What are the various steps of PCR ? From which 

bacteria thermostable DNA polymerase is 

isolated ? 

  8. tSo&izkS|ksfxdh ds fofHkUu vuqla/kku {ks= dkSu&ls gSa \ 2 

 Which are various research areas of 

biotechnology ? 
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  9. laokgd esa Dyksfuax djus gsrq izfrd`fr;u dh mRifÙk ds ckjs esa 

fyf[k,A 2 

 Write about origin of replication required to 

facilitate cloning into a vector. 

10. fldy lsy ,uhfe;k dk vkuqoaf'kd dkj.k D;k gS \ 2 

 What is the genetic cause of sickle cell 

anaemia ? 

11. cfg%ladj.k ds ckjs eas fyf[k,A 2 

 Write about outcrossing. 

[k.M[k.M[k.M[k.M – llll    

SECTION – C 

¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½    

(Short Answer Type Questions) 

12. dkcZu ,oa QkWLQksjl pØ eas vUrj Li"V dhft,A 3 

 Differentiate between carbon and phosphorus 

cycle. 
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13. feyj ds iz;ksx dk o.kZu dhft,A 3 

 Describe Miller's experiment. 

14. ifo= miou D;k gksrs gSa \ ;s dgk¡ ij ik, tkrs gSa \ budh 

tsSo fofo/krk esa D;k Hkwfedk gS \ 3 

 What are sacred groves ? Where are they found ? 

What is their role in biodiversity ? 

15. ikjthoh tUrqvksa ¼Vªkal~tsfud ,fueYl½ dh lkekU; 'kjhjfØ;k ,oa 

fodkl esa D;k Hkwfedk gS \ 3 

 What is the role of transgenic animals in normal 

physiology and development ? 

16. lgt izfrj{kk ds 'kkjhfjd ,oa dksf'kdh; jks/k D;k gSa \ 3 

 What are the physical and cellular barriers of 

innate immunity ? 
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17. ;kSu lapkfjr jksxksa (STD) ds 'kq#vkrh y{k.k D;k gSa \ bu 

jksxksa ls eqDr jg ldus ds fy, fdu lk/kkj.k fu;eksa dk ikyu 

djuk pkfg, \ 3 

 What are the early symptoms of STD (Sexually 

Transmitted Disease) ? What simple principles 

should be followed to prevent these diseases ? 

18. Øksekslkse vkSj thu ds O;ogkj esa vUrj dk o.kZu dhft,A 3 

 Describe the differences between the behaviour 

of chromosomes and the genes. 

[k.M[k.M[k.M[k.M – nnnn    

SECTION –  D 

¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½    

(Long Answer Type Questions) 

19. ouksUewyu ¼MhQkWjsLVs'ku½ ds D;k ifj.kke gksrs gSa \ ouhdj.k 

¼jhQkWjsLVs'ku½ ds ckjs esa fyf[k,A 5 

 What are the consequences of deforestation ? 

Write about reforestation. 
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vFkokvFkokvFkokvFkok    

OR    

    vuqfpr iz;ksx vkSj vuqj{k.k }kjk izkd`frd lalk/kuksa dk 

fuEuhdj.k djus okys fofHkUu dkjdksa dk o.kZu dhft,A 5  

 Describe various factors which cause 

degradation of natural resources by improper 

utilization & maintenance. 

20. ekuo thukse dh eq[; fo'ks"krkvksa dk o.kZu dhft,A 5 

 Describe the salient features of Human Genome. 

vFkokvFkokvFkokvFkok    

OR    

    ml lao/kZu esa tgk¡ bZ0 dksykbZ of̀) dj jgk gks] ySDVkst Mkyus 

ij ySd vksisjkWu mRizsfjr gksrk gSA rc dHkh lao/kZu esa ySDVkst 

Mkyus ij ySd vksisjkWu dk;Z djuk D;ksa can dj nsrk gS \  5 

 In the medium where E. Coli was growing, 

lactose was added, which induced the lac 

operon. Then why does lac operon shut down 

some time after addition of lactose in the 

medium ? 
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21. L=h tuu ra= dk vkjs[kh; dkV dk ukekafdr fp= cukb, rFkk 

xHkkZ'k; dh lajpuk dk o.kZu dhft,A 5 

 Draw a well labelled diagrammatic sectional view 

of the female reproductive system and explain 

the structure of uterus. 

! 


